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CaCo = perianth; if sepals and petals are alike termed 'tepals.
A = Androecium; or whorl of stamens.

G = Gynoecium; or ovary bearing carpels.

Cat X~ momberof sepals

o X=mumber of petls

A" X=maber of samens

» X= number of carpels: if one, termed 'monocacpous, i two or more and free or distinct, termed apocarpous, if o of more and fused, termed 'syncarpous or connate.

X - X = variation in number in that family

X=X =Like floral parts in two whorls
(O = il fosed orconnate, especalyin eference o the carpels ofth gynoscium. IFcarel # has o fsion symbol, capelsare fee and ditinct.

M =apially fused or consate
\_ =basally fsed o connate
"y =l disinctor fsed; vaiation within s fmily
o = male snisexual fover
¢ = female snisexual fover
« =many

* = saminoge aserie sumen

Gatpor s, =adnate; or fusion of two different floral whorls

CaCon,
“hypanthium shen all whorls ar present. Especiall frequent i the Rosdae. The floral whorls are perigymous o the gymoscium, which is sl considered superio to them.

G

infeior to inserion point of the ofher whorls. The floral whorl are epigymous to the gymoecium.

ovary superior to insertion poiat of ther floral whorts. The floral whorls are hypogenous to the gymoscium.

ovary inferor to superir - variation exsts within the family, or halfinferior.
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